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. (25%) Suppose Country X produces and consumes lamb. The world price of lamb is $20 per unit, and Count
pp p ry

X’s domestic demand and supply for lamb are the following equations:

Demand: QP = 120 — P; Supply: Q% = 2P

where P is in dollars per unit and Q is per unit of lamb.

(1) Please draw a clearly-labelled graph of the lambmarket in Country X if the country does not allow trade.
Find the equilibrium price and quantity, consumer surplus, producer surplus, and total surplus.

(2) Suppose now the country opens for free trade. Draw a second graph to describe the new situation in the
lamb market. How much lambwill the country import? How much-are the gains from trade?

(3) Suppose after a few years, the country imposes.a-quota that only 30 units of lamb can be imported. Use
the second graph, which you drew in part (2), to illustrate the new situation and indicate where the
deadweight losses are.

(4) Is there any trade policy more economically efficient than setting a quota” Please explain.
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(1) 4% CPI # Core CPI 7

(2) #&FE LB 1'*’(#')* LB A %K W18 B Bk (inflation) 44 B2 7 BT 7

(3) BEHBReeBE2Ens TSt  EBELSL—# K %R £(nflation is always and
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